CHINMAYA ACADEMY FOR CIVIL SERVICES
Group 1 Preliminary Free Mock Test Series-2

1. Which of the following amendment provided the way to give state priority to Sikkim?
a) 35th amendment act, 1974 b) 36th amendment act, 1975

c) 9th amendment act, 1960 d) 14th amendment act, 1962

HeTeu@ld ThS S HBHSWD F&& (W& IMBlev WeTelflenln aupnis aulll uEG S5 SI1?

a) 35618 B(HSHF FL_L LD, 1974 b) 366u8I HBHHE FLLID, 1975

0) 9ausl HHSSHEF FL_L LD, 1960 d) 14aug HHSHEF FLLLD, 1962

2. What is known as method of referring a question or set of questions to the electorate
directly rather than to be settled in the legislature by people’s representatives?

a) Initiative b) Referendum c) Recall d) Plebiscite
& 56T TS BIS&H6TT6L FLLINTNSH 6L GTa] SmeaorLeng Sl CIHITLGWITS 6UTESTETTEHEHS S 2 (H
Caeitefl 3j6LeL G GHeTellGerfletr QTGS LmLG GMILILIAGHILD (Nemm 6TeT 3 emp&SELUILGSE MSI?

a) (TP MG b) QUTE! UMTEQ&HLIL

¢) OIS Gflemin d) D& &6 L mwn

3. Assertion: Indian constitution is one of the successful constitutions in the world.
Reason: It preserves the freedom and equality of all its citizens.

a) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
b) Both Assertion and Reason are true but Reason is not the correct explanation of Assertion
c) Assertion is true but Reason is false.

d) Assertion is false but Reason is true.

Sahmi: @B TR WeemLIL] 2 60& 6T QeuMMIGTLOMeT OFFWevenoLiL]&erfleél ee6dTMmELD.
SITJ6UOTID: @) & | eM6UTSH & (B519108 & 6fl6r &&HB TG WD FIOSSIaISHMSW LD LIMTSISHTERMSI.

a) Sa MM LDMHMILD STFevord @ evor(D Fifl LDMHMILD &TFeTTLD 6T60TLIS FoMmleor & iflwimer ellemd: a1,

b) Sa MM LOMHMILD &HTFeTOTLD @) TevoT(hLD &FIf S MT60T 2L60TIT6L SITF60TID FoMMIG & TEoT FiflWimest elemd: D {606V
Q) Gl Fifl SLEOTTEV SHITI6UOTLD &6UMTETSI.

d) S HEUMTETSI 60TV & TFevord &ifl.

4. The Constituent Assembly was composed of members along the lines suggested by the
plan proposed by __
a) Cripps mission b) Mountbatten plan
c) Cabinet Mission d) Wavell Plan
SITFWeuemOLIL] FeOLIWTETS _ L6V (perumAlwiiLl L S L 5mev Uiflhglienrsslul L euyllserfley
2_mILLSeTT 8 6m6T8: G\ & ITeuoTL Sl.
a) AflLiev HI1HIGHGH WD b) L6y 6vorL_GLIL_ L 60T SIL_L_LD
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o) GaL9eorL L6 60T d) Gaueueb B LD

5. From which among the following constitution the language of the preamble is taken ?
a) America b) Canada c) French d) Australia
etTeu(pLlh eTHS STFWevenln Il NedBH S W&eayemnguiler QM T &H&SLILILL SI?

a) QW& b) &eorLIT o) NTEhs d) o6& CreSlwim

6. Which of the following are true regarding Constitutional Amendment?

1.All amendments to the Constitution are initiated only in the Parliament

2.Referendum are required for ratification of the Amendment.

3.The President has no powers to send it back for reconsideration in these amendment.
a)l, 2 only b) 1, 3 only c) 2, 3 only d) All of the above
SITFWevenLILg SNBSS0 QSTLITUMTS LN 6dTeu (HeueTeummlev ergl &ifl?

1. ITAWVEMIDLIL| GG ITET I 6M6tTs Sl B (HS MG EHLD LITTTEHL6TMSS 6L LG G

Q& ITLMI& L1 () 8) 60T 60T

2. 55505 ABB&ENES QUTHUTEOSEHLIL CHeme.

3.@0\h8 B HS5H5H 6L LLMILFIFuenerrs: @ S (HLILI SILIL QoTTHLUR &GS G &TTLD @ 6Lenev.
a)l, 2 oL (LD b) 1, 3 DD 02 3 WwL(MLwWw d) GLOG6V 2_6ITET 3|6M60TH SN

7. Choose the correct option about Democracy

1.Empowerment of the poor and illiterates to enjoy the goodness of democracy.
2.Willingness among the elected people to misuse their powerful position and public
wealth.

3.Eradication of social evils and dangers from which democracy suffers

a) Only 1 correct b) 2 correct c) 1, 3 correct d) 1, 2 correct
6eTHTWsLL LMMlw Fflwumer afl((BLILSMSS G556 Q&F WD

1.g6emLD&6T LM MILD &evellWNeuMMeUTSH6T R60THITWLES S H 6T [HeTanlneml SiILeNES G & MyLels 6.
2.C5THOsM&ESLULLL In&EsallanLCuw Hhisefler SIS sTrlss Lgalenw b QUNSIF Q&F66als5Hems WL
SUMMSL LWeaTU®SS el (B LILILD.

3.57008 GeMLDGET DM MID QeTHITWSWL LTHE&ESLILGLID I4LLS 5185 85606T L0155 60

a) 1 (b &ifl b) 2 &ifl o 1,3 &0l d) 1, 2 &l

8. The application of fundamental rights to the citizens can be restricted in which of the
following situations?
1. President’s rule 2. Financial emergency

3. Martial law 4. Internal emergency
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Choose the correct answer using the codes below:

a) 1, 2, 4 only b) 3, 4 only c) 3 only d) 1, 3 only
GIDEHEHE G LUl 2 Fflenwnserfler LweTUM® N6eTeu(hLd 6THG &L Hlemevudlen
SLHUUGSSLLIL6VTLN?

1. QaTTHLS L& 2. B1® 9 euErmlemeu

3. @Umemieu FL LD 4. 2 6T BT SUFTHlemeu

BCLp 2_dterm GMIWIHHemeT LWeTURS S srflwmer LG enevs C5THASH &8 ey Lh:

a) 1,2, 4 L (HLb b) 3, 4 (LD c) 3 L (@Lb d) 1,3 nL_ (LD

9. What do you understand by the statement, ‘The Directive Principles of State Policy
(DPSP) in the constitution are non- justiciable in nature’?

a) The courts cannot recognize the DPSP in their judgments.

b) DPSP cannot be enforced by law.

c) They are not enforceable by the courts for their violation.

d) All of the Above

'SITR WwevemoLILel 2 6iter IDMBlevs Qs maTensulleT eultl& ML (H)S560 CSHITLLIT@H &6T (DPSP) @) whensullév
BlWTWMmMmeneu' éTedrm & emnasulledr epeulh Hkig 6T ereoreor L 1h 5@ & meT& njiTes eir?

a) BHNETMMHISG 6T FHIG6T GFLIL|Gerfley DPSP & SiBISB&HK166 (DIGWITSI.

b) DPSP &L L && M6V QFWVLIHSSLILIL. (DI UITSI.

¢) SiumMIeT LIMaISGSHTH emal BH DETMHMHISGETTE QFWLIBSSLILIL TSI

d) GLOM & 6E00TL. 3|6M60THSILD

10. Which article lays down that there shall be a council of ministers with the Prime
Minister as the head to aid and advise the President?

a) Article 74 b) Article 72 c) Article 56 d) Article 63
GWTHS SeM6V6UIHSHE 2-56 6US MG LCEVITFEMET 6ULPMEIEGMLSMESLD LNTSHL060TEH 618 TeUoTL

S MOFFTEHET (& @)\ ([H5 8 Ceuevor(hLD eTedTMI 6TH& & LI fl6y s IS M SI1?

a) Uifley 74 b) LNfley 72 o) 9rfley 56 d) L9fley 63

11. Which of the following according to Article 368 can be amended by a simple majority
of the two houses of Parliament?

1. Admission or establishment of new states

2. Elections to parliament and state legislatures

3. Use of official languages

4. Fundamental rights

a) 1 only b) 1, 2, 3 only c) 1, 3 only d) 1, 2 only
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L Nfley 36860t LI LI 6tTou(HLDEUM M6V 6T6m S [HITLITEHLO6TM & B) 60T @\(H | 6meu s erfledr ererfll
QLUBLOLITETEmIOWITEL H(HSHS (PLGULh?

1. YHW Lommlevnkiserfler CF&Hems 6V6V G Bl M6y S el

2. UMJTEHLO60TMLD LM MILD LOMBI6V &L L LO6OTM I8 (6158 8 IT60T G875 6L & 61T

3. 9B &My Feu Quomslgerfler LIwedTLImT®.

4. 9| LILenL 2 flemLn s 6it

a) 1 L@ b) 1,2, 3 L (HILD 01,3 LG d) 1,2 L @BLD

12. Election commission of India conducts elections for

1. Parliament 2. President 3. Vice President

4. State legislature 5. Local bodies

a) 1, 2 only b) 1, 4, 5 only c)1,2,3,4only d) All
QBB W C5TH6L SLeMeTWID CHTSHMeV HLS SIS MS!

1. UM ITEBLO 6T LD 2. 2aTTH LS 3. S1601600TS &60I6V6UIT
4. L0MBlev FLLIO6TMLD 5. 2_6Tem L& o{6mL0LIL] 56T

a) 1,2 (LD b) 1,4, 5 DL ()LD 91,23 4w @MW d) GLDM&HE00TL. | 60)60TSH SILD

13. Which is the best instrument of political system to ensure ‘Unity in diversity’?
a) Democratic federalism b) Democratic union

c) Authoritarianism d) Federation of republics
'Geummieniouilel eMHMmIememL’ 2 MIT QFWGMETET TFIW emnlilNer Fmbs & el e15i1?
a) QETHTUS Fnl LTLG b) R60THTWLS QST MHEFHISLD

¢) FTIMH&TTLD d) Gl19W TG &6rleT Fal LeninLiL]

14. Which of the following States follow federalism?

1. Australia 2. Canada 3. UK 4. Switzerland

a) 1, 2, 3 only b) 2, 3, 4 only c) 1, 2,4 only d) All of the above
L edTeu(pLD 6THS LOMBlEULD Fal LML WenmenwiL L9 60T LM MG mSI?

1. S4B CredSlwm 2. &eoTLIT 3. QRIS NHSI 4. L EFFeuTH S
a)1,2 3wl b) 2, 3, 4 DD 01,240 (MWD d) GLOG6V 2_6ITET 3|6M 60T SN

15. Statement: The Consumer Protection Act called Magna Carta of Consumers was
enacted in 1986 in India.

Reason: Enacted to protect the interests of consumers and right to hear their grievances.
a) Statement and reason are correct; Reason is the correct explanation for statement.

b) Statement and reason are correct; Reason is not correct explanation for statement.

c) The statement is correct, the reason is incorrect
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d) The statement is incorrect, the reason is correct

Fahmi: QhHWmellel BI&GTCeUTT LOM&EUTT STFLLIT eTeTLILRID BISFTCeUMT LIMSHSTLIL FLLLD 1986 @6V
QumHmULILLSI.

SITI6UuTLD: HI& T Ceum 6T HeveirseT LM MILD 96U 6rfleir GemmeEenens CG&HL (G 2 flemwenwiLl
UMSISTUUSMHSTS @UHmLILLLSI.

a) FaMM LDMHMILD SMTeord FflWmeTsl; Sa MM s mer Fiflwimer ellemgaIn &ITIerLD.

b) FammI LDMHMILD ST IeooTD FFIWLTETS!; FaMMISEG STIeord &FflWmeT aleTsHaHID 3 6V6v.

Q) Famm FlWLIMETS!, STI600TID &HeUMTETS

d) FaHmI HAIMTETS!, STTevord &Fiflulmers

16. Choose the incorrect statement (By naturalization citizenship)

a) Should have renounced the citizenship of his mother country.

b) He/she is ordinarily resident of India for minimum10 years

c) Must have stayed in India for one year continuously prior to the date of application.
d) Must be able to speak and write one of the languages mentioned in the 8th schedule.
SaUMTeT I NM&emns&H s CHT6] Q&FWWa|LD (GWMemSLOWINTHS6 & L9Wiflenin)

a) ST BITL 19607 G flemnemnl SmbHH B Gelsuor(k)D.

b) 96U QUTSIUTS @BHEW TNl GMmMBSLIL & 10 Levor(h ST eUFLILIITTES @) (H&8 Galesor(hLd

c) elevoreror LILN GG CHHEE (LNETEITSHTSH R(H U(BLLID QSTLIHS @h& Wwmale HhRuNmeHs Ceausr@ILD.
d) 8eugl i Lalenetorwiley @MU LiLIL BeTeT Qmlserfley gCHailn spetTenmLl GLIFALD 6T(LRS 6D
QsHS &S Ceustor(HLD.

17. Under which Judgement SC declared that the President shall make appointment of
CEC and EC on the advice of 3-member committee.

a) K. S Puttaswamy case b) M. C. Mehta case

c) Lily Thomas case d) Anoop Baranwall case

THhS5 S ST 6T GLb 3 GUIT Q&metoTL. & (W66t o1, eumeemenrudleor GLINfleL LermH LIS CEC Lommith EC
BlWLOETD Q&FWeUMT eTredrml SC M6l s S Sl.

a) G&.aTev.L L LETA aIpsHG b) eTIDH CLOGSIT QUPES

) e9levedl H N6V QUGG d) STl LITETEUTEV 6ULP& &

18. Age for contesing elections are mentioned under which articles
a) Lok sabha (Art 85) & Legislative assembly (Art 175)
b) Rajya sabha (Art 86) & Legislative council (Art 173)
c) Rajya sabha (Art 82) & Legislative council (Art 172)
d) Lok sabha (Art 84) & Legislative assembly (Art 173)
CxI56e%6L GUITLIGUHeu S MHamer euw g eThS e LN ifleyserfler S ML LILL( eTergi
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a) & &emenal ( Lifley 85) & &L L nermid (LNifley 175)
b) prawsur ( ifley 86) & FLLL1 GUFemal (LNl 173)
o prwsur (LNifle 82) & #LLLI Guremeal (L9ifley 172)
d) Inssemenel (Lifle) 84) & &L nermld (Lifley 173)

19. Match the following.
Significance Committee

. Review the working of the Constitution 1. Narasimhan Commaittee

. Fundamental Duties 2. L. M. Singhvi Committee

. Creamy Layer for OBC 3. Justice Verma Committee
d. Banking Reforms 4.Venkatachaliah Commaittee
e. Constitutional Recognition of Panchayat Raj 5. Ram Nandan Committee
L9l 6dT6u (B 6ueTTEUMEMM LI QLIMTIHE S 6 LD.

(LA NIEFADI - Sw
a. ArFWevemnINedr QFWeLHLMLemL LG LILIMTUIIG Q&FUIGS56 1. BFEDL060T G
b. QLI & &L 60ILD&6T 2. eTeueTh Fmied &
c. OBC& & meur & if18 Geuwliy 3. 2261V19.6MV UFLOIT LA LY
d. U E17 S\ ([5G & 6T 4. QEUMIGLITEMEUWIT & (W
e. UEHEFTWSH S JTRESTEr FFWevenoLIL] BISSTTLD 5. JITLD 51H S 60T (WD
abcde

a)41352
b)42153
c)35214
d43512

20. Statement: The Kesavananda Bharati case (1973) is known as the Fundamental Rights
case.

Reason: Parliament can amend fundamental rights without changing the basic structure of
Indian Constitution.

a) Statement and reason are correct; Reason is the correct explanation for statement.

b) Statement and reason are correct; Reason is not correct explanation for statement.

c) Only the statement is correct, the reason is incorrect

d) The statement is incorrect incorrect, only the reason is correct

FaMmi: GHFUMETHS LITTSH UG (1973) g LiLenL 2 [flenngG6T U@ 6TeTm 36 asLUILGS M.
&TyeuorlD: @\h S W STF WevemoLIL6ir g LiLiemL &L LemLiemnU IomMHMTIOGeGW LI TEBL0 6T mLD

S LiLenL 2 flemngener S ([HHS (LPLGU]LD.

a) Ga MM IDMHMILD &TTevoTLD FIfIWLITETS; Sn MG TeT FiflwmeT allemgaIn &ITyeoorLD.
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b) oMM LOMHMILD STFeoord FHIWTETS!; FaMmIS @G STIevord &Flwmer alersasID 3 6V6v.

Q) Famml 0L HICLD FIflWITETSI, STT60TLD H6lmTeTS

d) Fam HaIMTETS! , SMJevorid WL HIGLD SFiflwmeors

21. Match the following.
a. Mandal Case
b. Passport Case
c. 9th Schedule Case
d. Case against 24th Amendment
e. Election case
L eTeuHouens LI QLITIHS S LD.
a. LDGUOTL6V 6ULN& S
b. LMeVCLIMTTL 6ULN&H G
c. 965 S| LIMETIT QIS S
d. 24018 HGS55DDS TH T QPSS
e. GHII56V ULNEHG
abcde
a)31425
b)23541
c)31245
d34251

22. Consider the following statements.

. Maneka Gandhi Case

. Kesavananda Bharati Case
. Indra Sawhney Case

. LR. Coelho case

. Rajnarayanan case

1. GLOETSHIT HTHS UGS

2. GEHFUMETHS LITTS eULp& S
3. QBB T Fammel aups S

4. 297 CHMTWCAMT QNS S
5. JITEIBITITIT LI 600T60T 6ULD & (&

1. The approval of the Speaker is not required when the Money Bill is sent from the Lok

Sabha to the Rajya Sabha.

2. No prior approval of the President is required; The President cannot send back.

3. Maximum delay by Rajya Sabha is 14 days only.

a) Only 1, 2 are incorrect

c) Only 1, 2 are correct

L eoTeu(BLD N8 60185 6M6TE: & 61601 Mg 6T,

b) Only 1, 3 are incorrect

d) Only 2, 3 are correct

1. L6voT LOGFMSHMem6 D& & aTemeauuilel @ (BHSI TTRWEFLIME S S ILIL|IbGUMS FUMBTWES 60T LIL| 560

Gz emeuuilevemev.

2. gaTTH LG U6 (6T ST CHemeuulicLemev; LDMMILD LTTHILG) @6ems S (HLIL ILIL (LG WITSI.
3. JTRWEUTeil6T 9SG SLLFIONS 14 BTLG6T DL HICL TN QEFWIWIpLguLd.

a) 1,2 L HGL HaumTeTS!
01,2 LBHCW Fiflwmers

b) 1,3 DLBHGLD HeumMTeTS)!
d) 2, 3 L BHCW Fiflwimerg
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23. Which provision states that a non- member of the Legislative Assembly must become a
member within six months of assuming office as a minister?

a) Article 164(1) b) Article 164(1) c) Article 164(2) d) Article 164(4)
FLLLU GuUpemeuuiiév 2 mILILNeT e @ 6V6VITS RIH6UT MEFTTHL LGSNCWMM S, M L0 TS KIS EH 8 (S 60T

2_mILSeryms GeueoT(HLD 6TetTM 6ThS NS o MG M SI?

a) Lrfley 164(1) b) Nifley 164(1) o) LNfley 164(2) d) LNley 164(4)

24. Which provision states that Parliament has the power to enact Goods and Services Tax
rules relating to intra-state trade?

a) Article 268 b) Article 269A c) Article 270 d) Article 271
LOITIB6VMIS @58 (& @) 60 GLULITET 6UTS S S QSTLITLITEr FI&HEG MM CFaneu aurfl i@ semer @wimmilh
AB&EMTID BILTEGLETNSS MG 2-6Tengl TetTml 6765 NS Fo MF M S1?

a) L91fley 268 b) LNifley 269A o) Nfley 270 d) LNfley 271

25. The first Administrative Reforms Commission was constituted in 1966 by the then
Prime Minister Indira Gandhi under the chairmanship of whom?

a) Veerappa Moily b) V. Ramachandran c) M. M. Punchhi d) Morarji Desai
W6V BlTeuNs: FTH([HSHSH 21,6Mm6v0T WD 196660 LICLIMemSW LTHLOFT @HS FIT &TH S WITEL WIT(H 60 LU
FHemeuemlouileL 2 (HeumSSGLILILL &I?

a) efyLiL Qomuied b) &l. JTLD&& S [edT c) 6TLD.6TLD. LLE6HH d) Quomymedl

Coamul

26. Which of the following are the features of Directive Principles of State Policy in India?
1. The goals and objectives which should be adopted by a society.

2. Certain rights apart from Fundamental Rights which should be enjoyed by individuals.
3. Certain instructions to avoid conflict between the Centre and states.

4. Certain policies which should be adopted by government.

Select the correct answer using the code given below:

a)l, 2 and 3 only b) 2, 3 and 4 only c)1l,2,3and 4 d)1, 2 and 4 only
L9) 65T 601 (I 61 60T6U (D) MI 6T 6TEM6U OBV Q& MeTem & Ull6dr QBMI(WenmE Ca&TLLIMEH & 6rfleir @) WeVL]g6T?

1. (b FeNsLD S LILN9585 CaueuoTiqW &8 G MeTs @@L GIhITE: & Mg @bLD.

2. 9| iuenL 2 flemwnser ey, HeflpLTSH6T S mILeNHEs Galeiriqw Flev 2 flenlnseir.

3. 0GB W, LOMHl6V & & EHSH ML G WITeT CLOMHmeVs &allTEs Flev 9inleymids6uaear.

4. 9|75 &6 LIL919.8 8 Ceuevorigl Fl6v Q& ITETE0 & & 6T.

SCW AamH&&LIULG 6T GMIuiiamL Ll LweaTL®SS) Frlwmsr LS eamevsd C5THAHH &850 LD:
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a) 1,2 lnmoild 3 L (ID b) 2, 3 LDHMID 4 OL_(HILD 01,2 3 W0mHmin 4 d) 1,2 lnmmib 4

Q[

27. With regard to difference between the Directive Principles and the instrument of
instructions issued by the British Government in India, which of the following
statements is correct?

a) The instrument of instructions was enumerated in the Government of India Act 1919,
whereas the Directive Principles are enumerated in part IV of Indian Constitution.

b) The instrument of instructions are instructions to executive only whereas the Directive
Principles are instructions to both legislature and executive.

c) The instrument of instructions is not enforceable whereas the Directive Principles are
enforceable.

d) The instrument of instructions are the guidelines issued by Governor general, whereas
the Directive Principles are constitutional instructions.

@hS wmellev LNFILIg60q STFMHEISLD aupBISWw PGS TLH C&HMLUMH & EHSH G, M6y mids e
S4,6U600TS B M (G LD 266 CeuMILIML6mL LI QLITMIS S euenTT, LN 6tTeu(hLD FunmmisGerfleL ergl Fiflwmeorgi?
a) 1919 9y 1d gLe0oT(h @BHH W SIT&HEF FLLEF6V M6 MIG S 60 ,6U600THIS6T &ML UL (heTermeot.
@B W ATRAWevenLILF FLLEF 6T LGS Ve QpMlenma CaHmLuUmbmae6T allelflas Ll (b eTereor.
b) 16060075 6T BlITaUMTSHSHM&HT6T 206l Mg EH60&H6T L (HEGLD, LeTmel aUPlGTL (B CamLLIMTH &6
FLLIDGTMLD WMHMILD BlFaITHS Sienm & U @) FJ6eorq MG M6y mis s 605 6TmE&LD.

Q) BLLeMETES GHTLLMH&HET QFWOLLGSSS5E55H5Hm6, HCHFUWLD MeMISE560 &([Heils6T
QFWVLNOSHSHHHEHM6! 606V,

d) 9MleMIGE56 &([HNGH6T &HeUTeT T QEeTIeVmev alpmIGLILIGILD QUPleTL (HS V& 6TTE LD, 2, 60TT6V
aPNSETLB CHTLUTH&6T TR WeuenInLliL] M6 mis 608 6TTELD.

28. With regard to Directive Principles of state policies (DPSPs), which of the following
statements is/are correct?
1.Social democracy is ensured by DPSPs whereas economic democracy is ensured by
Fundamental duties.
2.No matter related to implementation of DPSPs can be appealed for enforcement in
court as DPSPs are not justiciable in court.
Select the correct answer using the code given below:
a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
LTElev Q& meaTen s &erfletr auN&ETLH CHTLLIT®H &6T (DPSPs) Q& TLFLITS, L6eiTeu(hLd in & et & & 6rflev
eT51/6Temeu &l meor /& ifl W TeoT 6m6u?
1. FENS QETIHITW LD DPSP &6Tmev 2 M%) QEFEWIWLILGSMSI, 2168 CHISSH 6V QLITHETITSTY
QETHITWSGLD |G LILEL SLEMOGETTE 2. MIS QFWLWLILGSMSI.
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2. DPSP& & 606 906D S FI6U S QS TLITLITET 6ThHA6UT(H 6Slaquwidhemng Wb S L06irmd 5 6L
SeU®SS Cuewenmui®h QFUIW (PLGWITEI, Gl eureoflél DPSP& & 6T [H ) L060TM & B 6L
BlumWliU®SS (DI WITSI.

BC QsmHHsUULBG 6T GMIuiienL Ll LweaTu®MSS Fiflwmer LS emevsd CHTHASH &&HaLD:

a) 1 L (D b) 2 LMD o) 1 Wmmih 2 @ revor(hLb d) 1 96veugl 2 @Ievor(hLD @)6V606V

29. Assertion (A): The Constitution does not provide for any legal sanction against the
violation of the Fundamental duties.

Reason (R): Parliament is free to enforce them by suitable legislation.

Which of the options given below is/are correct?

a) A is true but R is false.

b) Both A and R are true and R is the correct explanation of A.

c) Both A and R are true but R is not the correct explanation of A.

d) Both A and R are false.

Famml (A): Y LILIOLE HLEMLDGMET LEMIUSMNHEG THITS 6THHC6UTIH FLL SBBHMTSHemSW| LD
SITFWevemLOLIL] 6ULPMEIS 6Nl 6V6m6V.

STIewrd (R): QUIMTHSSLOMET FLL&B) 60T eLp6uLh LIMITITEHLO6TMLD SjeuMenm HenL (WemmULIB S5
&SHS T QU MIETeTSI.

EC QsmTO&sLILL R 6Tem el(pLILIMBIS6leL eTgi/eTemeu &FiflWimeorgl/& flWImeoTemneu?

a) A &1fl 9pe0TmeL R Haumi.

b) A LnMMIh R @esor(oitd &ifl LnMMID R eTedTLIG! A S8 meor &Fiflulmeot ellemgsssin.

c) A LDmmIh R @ Uesor@ID &Fifl, QL60TTev R eTedTLIG A S&meor &Fiflulmeot edlem&:eIn 3i6v6v.

d) A lnmmilh R @ yevor(hLb &Heumi.

30. Which of the following statements is/are true of the Fundamental Duties of an
Indian citizen?

1.A legislative process has been provided to enforce these duties.

2.They are correlative to legal duties.

Select the correct answer using the code given below:

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
eiTeu(pLd SammisGerfleL 615 @ HH W &19 105601 165T LG LILI6DL &L emLnds6rfleL
Frlwumenrsl/&flwmeor emeu?

1. QHS HLMEHMET S|VLMSS @ FLL Q&FWeL(LNemM 6ULpMHIGSLILIL(H6TeTsl.

2. 9|66l FLL G &Le0MINGEHL 6T QGITLTL|60L LLIem6.

SCW AamH&&LIULG 6T GMIuiiamL Ll LweaTL®SS) Frlwmsr LS eamevsd C5THAHH &850 LD:

a) 1 (b b) 2 InL_(h\LD o) 1 Wmmih 2 @ evor(hLd d) 1 9j6LeLal 2 @ TeuoT(HLD @)6V6DI6V

Page 10 of 68

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

31. In the context of India, which one of the following is the correct relationship
between Rights and Duties?

a) Rights are correlative with Duties.

b) Rights are personal and hence independent of society and duties.

c) Rights, not Duties, are important for the advancement of the personality of the citizen.
d) Duties, not Rights, are important for the stability of the State

@HS W memeull QUITMISSH6euenTT, LI 6dreu (Heuesreummlev 618 2 Flemln&6iT DM MID &L60)L0 & @68 (&

@ e ulleurreor Frflwimeor 2-mey?

a) 2 [flemnln 6T &L 6emLINGEHL 60T QG ITLITLI6ML U6,

b) 2_flenLng 6T FHeoflILILLenel, sTaTGal 3jemal Felnsld InMHMID &L enLn& 66l (BIh S & UIITES 60T LD TETEm M.
c) 2_flen &6 (P G19.105601160T B EHemLD (LNETCTMMSH MG (LNEHWILDTETen6al @) & &L 0LN&EHE G
QUTBBSMSI.

d) ATF 6T VTP TS ST 2 FlemGH6T (& H WLDEV6Y, HLEMLDGET (P& S WD

32. With reference to cooperative societies, consider the following statements:

1. A Cooperative society is a voluntary association of persons.

2. Cooperative societies are not driven by economic interests.

3. Cooperatives in all states in India are solely formed under the Co-operative Societies
Act, 1912

4. To form a cooperative society, at least ten persons are required.

Which of the statements given above is/are correct?

a) 1, 2 and 3 only b)1 and 4 only c)1, 3 and 4 only d) 2, 3 and 4 only
Sl HMeF FRIGHIGET QS TLITLIMS LN6TeU(BHLD Fah MG eM6TE &6U6TSH 6L Q& T6Ts:

1. gaL(HM6Y & SFMIGLD 6T60TLISI & 60T60l & 60 & WITeT HLIT8 6 60T Snl L emLOLIL] o4 @&LD.

2. Sal (HM6Y SFhIGSMHISET QLITIHETTSITT [H6V6TSH M6V @)W &S LILIG U 6veme6v .

3. @B B Wmeilev 2_6Tem 2 6eMmeuTs Gl LOMBleLEIGET LD 2 6T6T Fal(BHlMEY& 6T WMMISVILD Fal (HM6Y & Mg hIS 6T
FLLID, 1912 @) 60T GLh 2 (1H6uTE 8 LILI(H) & 60T m 6T

4. @ ol (hMey FRIGLD S MNES GOMHSS LSS HLTHET C5Heme.

CLGev QABMH&HSLILIL B ETET ammiSerflev ergi/eremeu Frflwimeoral/&iflwimeoremneu?

a) 1,2 oMb 3 Ll GIh b) 1 LnHMILD 4 oG W @ evor(hLD

o 1,3 MmmIb 4 L GHILD d) 2, 3 lommib 4 DL ()LD

33. The Constitutional provision with respect to the Cooperative Societies is/are
present in which of the following provisions of the Constitution?

1. Fundamental Rights

2. Directive Principle of State Policy

3. Part IX-B
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Select the correct answer using the code given below.

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d) 1,2 and 3

Fa (M6 & FBISGMHIGET QGTLTLITT JFWevemnoliL] eSS &6 TFF wevemniolILileor LedTeu(hLD 6TIHS
B serflev 2 siTereor?

1. 9 LiLemL 2 iflemn g6t

2. 9758 QEMmeTan G QBFMILILMGSSID CHTLLITH

3. UGS IX-B

BC QsmH&EsUULBG6Ter GMuiienL 1 LweaTu®MSS Fiflwmer LS emevsd CHTHASH &EHaLWD.

a) 1 MM 2 S W @ revor(hLd b) 1 LDMHMILD 3 &I G Tevor(H)LD

¢) 2 LoMmMmID 3 D@D d) 1,2 lommib 3

34. Consider the following statements:

1. The right to form co-operative societies is a fundamental right.

2. Only the Parliament can make provisions regarding the regulation of co-operative
societies.

3. The audit report of the accounts of an apex co- operative society shall be laid before the
State Legislature.

Which of the statements given above is/are correct?

a) 1 only b) 1 and 3 only c) 2 and 3 only d) 1 and 2 only
LS etTeU(BLD FaM MG 6METE & 61607 UMb 6iT:

1.5 HI\MeY FHIGKISMET 9{enlns G0 2 flen g LiLemL 2 flemww mEib.

2.5 L(HMeYEF FRIGHEISGMET (LOMEIGLDBSSI6US QGTLITLITET 6 MHLIM({H 606 LIITIYITERLD63TM S & mel
LLGC QFWIW (pLgujLd.

3.5606V60108 Fnl (HMEYEF &FhiG M G660 &e6uurd: S 866t &efldheans M&eams L0MBlev &FLL L06STMm & &) 60T
60T eMeus & LILIL Geuevor(hLD.

CLGev ABMH&SLILIL B ETET ammiSerfley ergi/eremeu Frlwimeoral/&iflwimeoremneu?

a) 1 L (HLD b) 1 LnHMILD 3 SLSH W @ evor(hLD

¢) 2 wmmibd 3 @b d) 1 lnHmilh 2 L& @ revor(hLh

35. Consider the following statements:

1. The Constitutional Bench of the Kesavananda Bharati case (1973) defined the Basic
Structure as ‘provisions which cherishes Constitutional sovereignty and Individual
liberty’.

2. Supreme Court in the Golaknath case (1967) held that an amendment under Article
368 can be defined as ‘law’ within the ambit of Article 13.

3. ‘Limited amending power of the Parliament’ is added to be a part of the Basic

Structure in the Minerva Mills case (1980).
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Which of the statements given above are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d) 1,2 and 3
LS etTeU(BLD FaM MG 6MEITE &6 60T UMb 6iT:

1. G EFUMETHS LITTS eup& & 6T (1973) QITFIwevenioliL] S0Fe] 319 LIL6ML &L L emLoLlenL]
'STFWevemIoLIL] @) 6mMmUIITEToTEmLD LM MILD HeoflHLUT &SHBTSHemG LI CUITMHMILD NG 6T eTedTm)
UDTW DS S S

2. GEHMEVGBITS 6ULPEE 6L (1967) 2_&& BB 6TMLD 368 cusl LNfefleir LD (b BBSSHS5ems Lfley 13
() 60T 6TELEMEVE (G6IT "FLLLD' 6T6OTMI UM T MIG S (LOLU|LD 6T60TMI Fn WIS,

3. Q@ eTTeuT Ll6L6EN UL E 6L (1980) L LILIGOL &L LemLOLILN60T (1 LI(&H WITs
'IHITLITEBHLO 6T & B 60T UM T MESLILLL S(HSHS A SMTTID' CFTEHSELILIL B ETTSI.

GGV QBMMH&E&LILILBH6TET Fammiserflev erg &iflwimeorsi?

a) 1 LMHMILD 2 Y& W @ Fevor(hiLD b) 2 (nMmmith 3 ()LD

o) 1 mmIDh 3 & @uevor(HLD d) 1,2 lnmmild 3

36. Which one of the following statements is correct with reference to the election of
President of India?

a) All the members of the parliament are part of electoral college in the election.

b) Value of vote of each Member of Parliament from both the Houses are same.

c) Total value of votes for each state is same.

d) All doubts and disputes with respect to the election are inquired into by the High Court.
QHH WS GQWTEHS Hemevall] CHTH6L QSTLITLIMET LN6iTau(bLD dammiserley etz Fiflwmers?

a) BITLTEBLOETM S S 60T 3i6060TSH G 2 MILILNeT J&H @B G5 TH656V QUMS&TETT&H6T 2(H LIGH UITE 2_6TeTeor().
b) @@ SiemeausefledBHEID @eIQeUT BITLTEFearm 2 miliNeriler aums@ WG LIL| FOMEGLD.

) REUQAUTH LDMBlEVSSISGLOMET QLTSS 6UTEH G S6rfler LG UL FioLh.

d) GHTHL QS TLITLITET D6 S FHCHHMIGET LDMMID HHTTMIH6T CLO6V BFHLD6TM &5 M6V
Nemil&sLILH S eTmenT.

37. The Parliament can amend any part of the Constitution of India but without affecting
the ‘basic structure’. Which of the following features form part of the ‘basic structure’ of
the Constitution?

1. Welfare state. 2. Federalism.

3. Principle of Separation of powers. 4. Freedom and dignity of the individual.
Select the correct answer using the code given below:

a) 1, 2 and 4 only b) 1, 2 and 3 only c) 2 and 3 only d1,2,3and 4
QBB W TFA WeVemIDLILN6IT 6THS LI LIE S emW LD [HTLITEBLO6TMLD B (55 SH6VITLD, b60TIT6V 'L LILI6oL
sLLelenU’ UTHSHTIN0N GBS S 6VTLD. L9 6dTeu 5 eueoreumnilev eTemeu i &FlwevemoLiLedr 'ojiq LiLienL

&L LemIN6T @ LGS WIS |60l S 6dTmeor?
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1. D& &6ET [H6V Y T& 2. &L LTLS pemm

3. 9B &Myl Kflelleners GamLum®m 4. 5601l 1060l & 60l 60T & GH S TLD LDMHMILD QS&ETTeULD
BC Qs HsUULBG6Ter GMuiienL 1 LweaTu®MSS Fiflwmer LS emevsd CHTHASH &S LD:

a) 1,2 DMMID 4 L (LD b) 1,2 MHmILD 3 L BILD 02 wmmib 3w d)1,2 3 wmhmib 4

38. Which of the following provisions was not introduced by 44th Constitutional
Amendment in the context of the emergency?

a) The term “internal disturbance” was replaced by “armed rebellion” in respect of national
emergency.

b) The President can declare a national emergency only on the written recommendation of
the cabinet.

c) It provided that the fundamental rights guaranteed by Articles 20 and 21 cannot be
suspended during a national emergency.

d) It added the provision that the proclamation of national emergency can be declared for
a specified part of territory of India.

SIUEFTSHITEV L6016V 44 gl SITFWeVenLDLIL] B (5SS S S 60 eLpeulh Ledreu(hLd efl& serfleév eTsi
SIVWsLUILGSSLILLaNeveme6v?

a) CEHIW SIaUFTHIeMm6V QSTLILMS "2 aThMTL () GLLILILD" 6T6TM QFMT6 "9LUHe ReTIFR" eTeoTm
WTOHMULILLSI.

b) SjemngFreneluiler erpsasiliLLFel Liflhaienguiler GLfle WL GG QeTmTH LS WML CHF W
euFrBleneveanl mlellsss (wiguLb.

0) e1S) 20 InMHMILD 21 Q6L 2 GSHTaIMSID 6flEsliUl L g liLieml 2 fleningseameT CHFW
JeusBlenevuilet CUIME @emLBlMGSSES (NI UWITS 6T60TM Fo MIF M.

d) @S wmeller e GMILUNILL UGH &S CHAW auFrBlene LNT&HLeTS5mE 3Mlelld s (LNLQULD 6TedTm
S 918 CFISSS!.

39. With reference to the proclamation of the national emergency in India, consider the
following statements.
. The First national emergency was proclaimed in wake of Indo-Pakistan War of 1965.
. The National Emergency of 1975 was proclaimed on the ground of internal
disturbances.
. The Bihar Movement was a peaceful protest launched by the opposition parties
after the National Emergency of 1975 was declared.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 2 only c) 1 and 3 only d) 1,2 and 3
A BB Wmellev C5HA W QBIHSSLY Blemev LTS LETID QSTLTLMS, LN6Teu(hLD 3N 6t & 860 6rTd

& 606011 W MBI S5 61T.
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1965 941b 31,600T(H @\ HBHW-LITEH VS TeT CLMTenT (H &S (PH6V CHF W I eUFTBlemev
SiPleN&asLILL LS.
1975 9u1b 9,600T(H CHF W QHIHE S [Flemev 2 6THITL(H & GLOLILIMGISEM6TS S&ITF6UuTD STy @) Sl
WrsLerULGSSILLLSI.
&My @WasLD eTetTLI S 1975 SuLlh 2),600T(H CHF W jeusTHlemev mleNlgas LU L LSedreor
THTHSEL_FISH6TTL QGTLMBISLILLL 600 H WITeoT GUITHTLLLOMGLD.

GGV QBMMH &S LILIL(BH6TET FaMmiserflev ergi/eremeu &iflwlimeorsl/&flwimeoTemeu?

a) 1 MM 2 S W @ revor(hLd b) 2 LD

¢) 1 MHMID 3 W& G Fevor(hLD d) 1,2 Lnmmilh 3

40. Consider the following statements:

1. Emergency provisions provide security to the democratic political system, and

the Constitution of India.

2. During an emergency, the Central government becomes all powerful.

3. The Constitution of India can be both unitary as well as federal according to the

requirements of time and circumstances.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d) 1,2 and3

LN etTeuBLD T D M1 EMETE & 6L 60T U1 6IT:
SUFTSEHTeL B &H6IT QTHITILS S THF I MDLIL|E G, @HS W TF WevennLiL &
FLLSH MG LUTSISTLL 2 6rl& e eormeor.
QBIHEHELY Blemevs HITELE B 6L, I0SF W TS FJ6U UEV6VENLD LIMLSSSTEH el FH M.
AhHH W TFWevemnLlL] &ITeVLD, GGLPHleM6V LG WeuMenML QUITNIS S pMHenmW LG
(PEMMWITSHELD Fal LTS NemmMWIMse|ld @ (HHS (PLguLd.

CLGev QABMH&SLILIL B ETET ammiSerfley ergi/eremeu Frflwimeoragl/&iflwimeoremneu?

a) 1 WLMHMILD 2 UH W @ evor(hLd b) 2 LMHMILD 3 WL (HLD

o) 1 MHMID 3 Q& W G Fevor(hLD d) 1,2 nmmiib 3

41. Consider the following Statements

1. It connects the Indian ocean and Pacific ocean

2. India is well placed to engage in economic and trade activities with China, Japan and
Australia through this waterway.

Which of the following described by the above statement?

a) Suez canal b) Palk Strait

c) Malacca Strait d) 6 degree channel

L9 60TeU(BLD FanM MG EMET 86U 60T L M & 6iT
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1. @5 @HS WL QLIBEIS L6V D LTINS QLI(HE S Lem6euW|LD @) 60 60oTs:H M S

2. Eeorm, QUILIMET LOMMILD LVHCTeOWMeYL 6T QUITIHETTSTT WMMID UTHSS [HLEULLE 608 S erTlev
FOURPUSHES QHSWT Qb5 HFeutlliLmengsulleT epneuld FAMLILITE 2 6TeTgl.

Cumaanlw Famniler eneuld eSeurl& s LILIL (H6Teng e15i?

a) @61V STeVaUITUl b) LIMLE QVFHS)

) LDEVME ST BVEFHS) d) 6 9.5\ fl GFevrev

42. Match the following.
Project Rivers
a) Nagarjuna Sagar Project 1. Mahanadi
b) Hirakud Project 2. Sutlej
c)Bhakranangal Project 3. Krishna
d)Sardar Sarover Project 4. Narmada
L9 65T6u (B 6U 6BTEU M 6mM Q\LIMT(H & &6 LD.
([ B & 6T
a) FT&TTC6TT &FM&T S LD 1. D& THS)
b) aflgmGL S L LD 2. 5LQvR
LIS TITEUTMEISH6V S L LD 3. &\ (1H e19.600T IT
d)eFsrT &Grmeul S LD 4. BTIOST
abcd
a)3124
b)2413
c)1234
d4321

43. Consider the following Statements

1.It is the longest flowing river in Peninsular India

2.It is the second largest river in India

3.It has a drainage area of 3.13 Lakhs Square Kilometre

Which of the following river described by the above statement?

a) River Ponni b) River Tsangpo
¢) River Dakshin Ganga d) River Alok Nandha
LS 6dTeU(BLD FanM MIG6MEIT &6 60T L M1 & 6T

1. @& HusmHuU QS wmele s Heroms LMWL HHWMEGLD

2. @51 @B wreller @ revorLmeug Quiflw S

3. @181 3.13 UL&FLD &8I RCUMSLLT aULg&T6L LIG B 6w & @ & Teuor(h 6iTeng!

CLM&evoTL SamMmmev afleurflg &Ll (BeiTer NetTeuhLD HS) eTSH1?
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a) QuImedTen(] B b) &rmI GUIT S ¢) BLF 6T HHIST B d) 9IGeur& BHST HH

44. Consider the following Statements:

1. Power generation accounts for 5% of the world's electricity demand.
2. It is the second fastest growing electric energy in the world.

3. India ranks fourth in the world in terms of energy efficiency.

Which of the following energy described by the above statement?

a) Solar energy b) Geothermal energy c) Wind energy d) Tidal energy
L 6dTeU(BLD FoM /IS EMEIT &5 61 60T L M1 & 61T:

1. 2 v R 6t W 6T CHemeuuleL @) Sl 5% LAl6T 2 MHLISHH o4& LD.

2. @8 2.6V GaUSLOME 6UET(HLD @) [T60oTL MU LTS SL,MM6L I GSLD.

3. eTlF6®) Blmeir S LiLemLUll6L @HBHHWIT 2 60FH 6L HTEITSH TS G\L&H6L 2 6iTergl.
CLM&60TL. SaMMITeL efleunfl& & LILL B 6Ter LNeiTeu(hLd b MM6L 6TgI?

a) Gl @Hmey b) LellQeuliLl syMMeL ¢) STHID SyHMeV d) 2460760 W MMEL

45. Match the following (Sustainable development Goals )

. Goal 7
. Goal 9

1
2

. Sustainable cities and communities - 3. Goal 11
4

. Pure and affordable energy -

. Climate Action -

. Goal 12

. Industry, Innovation, Infrastructure - 5. Goal 13

. Sustainable consumption and production -

L9 656U (1 6u 6TTEU MMM LI QI LIT(H & &I 618 6iT (1Bl 6016V WITEOT 6U6TITEHS B)6V8 & SH6T)
ST 1M M wedley SL,MM6L - 1. QVEG 7
&IT6UIBl6M6V [HL6LLY.5 605 - 2. Qv&EE 9
Bl6m6ULLITEUT [H&ITMGIGET DM MILD & LN & MBI & 6T - 3. Qeva© 11
BlemeuITeoT HI& Ty LMMID 2 MHUSS) 4. QGG 12
QAsMH6, LUSSMEHSHID, 2 6T L LemLnLIL| 5. @6v&© 13

a b

46. Consider the following Statements:
1) It is situated in Brahmaputra river between Dhubri and Sadiya
2) This water transport covers the distance of 891 Km

Which of the following transport described by the above statement?
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a) National Waterway 1 b) National Waterway 2

c) National Waterway 3 d) National Waterway 4

LSl 60TaU(BLD FanMMIGEMET & 6L 6011 L MIg6IT:

1) @& siufl vHmib FHWT e Cw KFLLLUSSTT HH UL 3|emLnlbHSi6Tens

2) @S BT CUTHGUTS S 891 BIS SHMTSMS 2 6TemL&H W S

CLOG6v 2 6iTelm o miuledr epeuid efeurfléas I R eiTem LetTeu(BLd CUIME (S 6UTSH S 6TSI?

a) G W Beul 1 b) CasFW HreauLdl 2 o) G W Hryeaug 3 d) 6w Byeudl 4

47. Choose the incorrect statement (Naramda)

a) It was originates Amarkantak Plateau of Madhya Pradesh

b) It is the longest East flowing rivers

c) It has length of 1312 Km and drains an area of 98,796 Square Kilometre
d) It forms 27 km long length estuary

SUDTET FaHeNMS CHTHOSH &S (BTLOSM)

a) @& LSEHWL LNTCHFHH T ST evor_& LT L ilulledmha 2 [meumersi

b) @& F&HG CHMESR LM L& Bernmer o, mi

c) @&l 1312 AS Berid LnmmiLh 98,796 &7 HCMLSL LT LFLILIETen6IS G &Teur(H6Temg)
d) @&l 27 BT BeTneTer (INHSSITTSHNS 2 (HolTHGH M

48. Consider the following statements.

1. The Southwest monsoon originates at Indian ocean

2. Southwest Monsoon is not a heat resistant wind

3. After they reach southern Kerala, they originate by giving rain with heavy thunder
showers

4. Southwest Monsoon is bifurcated by the Indian Peninsula system

a) 1, 2 only true b) 3, 4 only true c) 1, 2, 3 only true d) All are true
LS 6dTeU(BLD FnM M1 85 60)61T 85 6L 60T | L] MG & 61T.

1. OB 6TGLMEGS LI(HeULemL @\HS W QLIBMEISGLeS 6 QS TLEIGH M

2. Q5aTCLO MG LUBeUSHSTMM QeuliLiGHens S &G0 &M O 6V6u

3. 9|em6U OB MG CHETaTmeme ML HS LINMEG, LvSHS B)L9UL|L 60T Fnlqll LOEMLPEMWS Q18 M(H LILIG 60T eLpeuLh
2_(15 6 IT S\ 60T M 60T

4. Qg 6TCLOMEG LIHheUunenlp @\ W GLSML enwLiumey @ revorLims Kflss UGS ms

a) 1,2 DL BGW &ifl b) 3,4 LLBHCL &Fifl 01,230 GGEw &l d) gjemers SN Fifl

49. Which of the following statement is correct about Vande Bharat?
1. It was also called as Train-18

2. This rail coach was fully manufactured only at Integral coach factory, Perambur
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3. Its first service was operated between Delhi and Kanpur.

a) 1, 2 is true and 3 is false b) 1, 3 is true and 2 is false

c) 2, 3 is true and 1 is false d) 2, 3 is false and 1 is true

uhCH LIMTES LUmMiw LNeTau(bLd Sammiserflev eTg Frlwmersi?

1. @& TulleL -18 eTeTMILD | EMPS S LILILL I

2. Qs Tuilev QUL QUILLLIl6L 2 6T @ TL&ETL CHEMTEF Qe MNMHEFTemevuilev L RGO (NIDEMIDWITS
sunflsslulL gl

3. 9IS ET (NG6V CFemeU QL6V6S) LOMMILD &HTETLLT @ 6mL G @USHSLILILLSI.

a) 1,2 #fllnmmid 3 Heummensl b) 1, 3 #fllommIlD 2 Heum

0) 2,3 FfllnhHoid 1 HeumTesTS d) 2, 3 Heum inmmid 1 &ifl

50. Arrange the following states based on urbanization

1. Tamilnadu 2. Maharashtra 3. Goa 4. Kerala 5. Himachal Pradesh
H&TI0WILOITE 869 60T 919 LILemLulleév LSletTeu(pLd WOMEleumkigemeT euflen&lILI(H &S el

1. sOLBTH 2. DS TTTOYLYTIT 3. G&meurr 4. G IyerTm 5. afllomggev LNFECs&LD
a)1,2,3,4,5 b)3,1,4,2,5 c)3,4,1,5,2 d1,3,4,2,5

51. If the capacity utilization in the economy is decreasing then consider the following
statements:

1. Capital to output ratio will decrease

2. Per unit cost of production will increase

Select the correct answer using the code given below:

a) 1 only b) 2 only c) Both 1 & 2 d) Neither 1 nor 2
QUIIBETTSTISSH 6L HMeT LIWeTUT® GenmbSl U MG eTedTmmev, LN6iTeu(HLD Fa.h MG 6eM6TE

55611601 WL M1 &5 61T:

1. 2.MHUSH & GLD eV S 6TE G0 meT IS 5D Gemmu]Ld

2. @ Welll 2. MUSH QFvey 38 &6 G0

SC AaMH&&LIULBG 6T MUl LweaTL®RSS) Fiflwmer LS eamevsd C5THASHH &S50 LD:

a) 1 L (b b) 2 DL_(HD o) 1&2 @uevor(h\Ld d) 1 96vevgl 2 @ TevoT(hLD @)6V6EDIGY

52. Which of the following is a common measure of degree of 'openness of an economy'?
a) Exports and imports share in world GDP

b) Balance of Payments as a percentage of GDP

c) Trade balance as a percentage of GDP

d) Exports and imports of goods and services as a percentage of GDP

L9) 65T 60 (I 61 60TEU M MI 6T 6TH1 'QLITIHETITS TS T 6T QeuefILILIenL & 6iTenln’ jemelleir QUMTGIeumenr 3jemai®?
a) 2605 QMES 2 6THMTL( 2 MHUSHUNL gHmInS MHmILD @ME @GS Ul6T LIBIG
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b) QLTSS 2 6THMTLH 2 MUSHUNeT F&HaTELI0MS aumenl LG QFaS S FLbBlemney

Q) QMSS 2 6THTLG 2 MUSH U F&HTHIONS aITHEHSH FLOb 66V

d) QIS 2 6THTLG 2 MUSH U e FHaiHI0MEH QUITIHL&6T LnMHMILD CFemeauderfler gmmilng oMM
@D&HGE

53. Consider the following statements with respect to Sunrise Sector in Indian Economy:
1. The sunrise sector industry is characterised by high growth rates and high degree of
innovation.

2. Food processing, Information technology and Telcom can be termed as Sunrise sectors
of Indian Economy.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
@HH WL QUIBETTSTTSH L GFlCWMTSWS SHenm QSTLTLMS LN6iTeU(HLD Fa M MIGM6TSH & 6160T L MBS 6iT:
1. Glewmsw gGleom QsTHLZ MM SG& auaTfeFd NGBFhRIGEHT MM IHs deralilevmerr
ST LIL&6MTeL euensLUILGSSLILIGSH M.

2. 2.60Te] USLULUMBSSISN, S&Hau) QSTHLELLL MM QLS&TL SBweumenm E@HSH WLl
QUIBETTSTISS 6T 2S5 M 6T 6T6iTM FaMEVITID.

CLGev AEMH &S LILILBETET sammiserflev ergi/eremeu &ifluimeor g/ & ifl Wi meoremeu?

a) 1 0L (D b) 2 L (HD ¢) 1 MHmID 2 @ revor(hLd d) 1 916V6V8 2 @ TevoT(HLD &)6VEBI6V

54. Consider the following with reference to Public Goods:

1. These goods are Non-excludable and non rivalrous.

2. Their use by one person neither prevents access to other people nor does it reduce
availability to others.

3. Street lights, Flood control systems are part of Public goods.

Which of the statements given above is/are correct?

a) 1 only b) 1 and 3 only c) 2 and 3 only d) 1,2 and 3
QUL QUL SET QSTLTUTS L9 60Teu (H6eu60TeU MemM & & 61601 W] Ml & 6iT:

1. @hS QUL SEET aflevs s (PIGWTHeme LoMHMILD CLUITL LG WM MEme.

2. @@ BUF Sjeubemml UwWeTUGSSIUG WMHMeUTHMET I TVIGeUMSSH SHLLUB LMV 6VeVGI
LMHMEUTEHEHSE T 6L LILINSE (&6mMLILIG 6Lem6v.

3. Q5 696Td G &6IT, QeueiTend GLHLILMMEH emWLIL&6T QUTgIL Lieuollserfler (b LGS WMGLD.

CLGev AEHMH & & LILIL B ETET sah MG 6rflev eTg1/eTemeu &ifl?

a) 1 (b b) 1 Lommith 3 ()LD c) 2 IoMmMIh 3 I (HILD d) 1,2 lnpmiid 3

55. The Bombay Plan with the popular title of ‘A Plan of Economic Development for India’,

prepared by a cross-section of India’s leading capitalists. With context of it consider the
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following statements:

1. The Bombay plan was published under the editorship of John Mathai who later became
the first Railway minister in Nehru's cabinet.

2. There were evident conflicting views on the economic planning between the members of
Bombay Plan and the National Planning committee.

3. The Plan gave priority to the basic industries.

Select the correct answer using the code given below:

a) 1,2 and 3 only b) 3 only c) 1 and 2 only d) 2 only
@nswmellesr (peiteotevoll (pSevmerflsGefleor Levw Lflelleorymey SwmilssUULL  '@)H S wmeyd s mer
QUITIHETTSTT eUeMT&FT S HLLID' eTedTm LINTLIGULDTEIT Sem6ULIL|L 60T LILIMUIG S LID. 3|8 60T @Loey L 6iT
L etTeu(BLD i) 560858 6M6ITE &5 61 60T UL M1 &5 61T:

1. GHHeNeir 9emwFFFeaneuuilev LNeireormerfleu FuleLGou EMDEFFTTH @ (HHS ITEOT LGS TUI 6T60TLI6u 60T
FHemeuemlouiledr SLb UMW LD QeuerfludL Ul L gi.

2. QuUmEGBeTTsMIsS HLLD Glss ubumlg SLL 2 mulbarfsers ld, CHFWS HGILLS
G Wweller(h&H G G enLCW (NTEITULL &(H5S18:86T Blevallw g Qgerfleuns @) (hhS .

3.Q58LLID YliLeLs QFTHLEHERS S Wt flenn i6flssSl.

SC AaMH&&LIULBG 6T GMIuTiemL L1 LweaTL® S S Filwmer UG eamevsd C5THAHH &S50 LD:

a) 1,2 lnmmild 3 LB b) 3 0L_(hILD c) 1 wmmib 2 I @Gl d) 2 (b

56. Which of the following statement correct about the Full-time Organisational Framework
of NITI Aayog:

a) It will have a Vice-Chairperson to be appointed by the President of India.

b) Part Time Member maximum 6 and will be on a rotational basis.

c) Ex-Officio Members maximum of 4 from the Union Council of Ministers nominated by the PM.
d) Chief Executive Officer to be appointed by the President of India.

BIS) oL,CWMES 6T NWWEHT HlmiaueT &L LenoliL LM KeTau@bd sammisserfley eTgl &iflwmers:

a) @8 @HHWE GQWLTHS SmevalTmey BIWLA&ESLILGILD 6(H S60600T5 &60)6V6UM T8 Gl&T6oorLq.(HHGLD.

b) UGS CBHT 2 MINeTT H&GLLFID 6 LDHMILD &M 9 LiLenLullev @LILT.

o Yyswrme Blwdsslu@WD S W Hemndsraneuwlledpba HHSLLFID 4 2alic) T 2 ML J&H6T.
d) @bBH WS GLLWTeHS Semevalmey BlIWN&ESIUMLD Senevenin BlFaums G &mifl.

57. Consider the following statements:

1. Phosphorus is an essential nutrient that helps in root development of the plant.

2. Vertical Farming uses techniques such as hydroponics, aquaponics, and aeroponics.

3. Growing more than two crops in a piece of land in a year in orderly succession is called
Inter Cropping.

Which of the statements given above is/are correct?
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a) 1 only b) 2 and 3 only c) 1 and 2 only d) 3 only

LS etTeU(BLD FaM MG 6MEITE & 61 60T UMb 6iT:

1. LUMeLLIT6V @ SHWMeuF W 261 L FFS I 3L,GD, @S HTeurs Heir Goulf euenTJ&FF &S 2 HayF M.

2. QFMIG S 5 CeUETTEITENLD smamL. G mGLITetl& e, 9&amEGLITell&ev LMmIh gCrmGUmeTld&eu GLImTeTm
BILLIBISmETL LIWeaTU® S SIS MSI.

3. @ BlewsBe @reT(H&HG CuMmULL UulfsaneTr @@ BLSSHO aflonswuns G550 55!
uuflQeug 2ar@uUUiT FMELULY ereoTLILIBILD.

GG QEMH & & LILILBHETET Fa MG erlev eTgl/eremeu &iflwlimeor g/ &iflWimeoTemeu?

a) 1 LG b) 2 LnMMID 3 L (LD o) 1 Wwmmib 2 LG

58. With reference to Pulses, consider the following statements:

1. Pulses help in the Nitrogen fixation in the soil.

2. Bihar is the leading producer of Pulses in India.

3. Pulse crops are grown only during the kharif season in India.

Which of the statements given above is/are correct?

a) 1 only b) 2 only ¢) 2 and 3 only d) 1 and 2 only
LB LIL] 6U6M & &6merTLl QLITMIS S euen(y, LN6oTeu(HLD Fu M MISHe06TS & 6u 60l Mmig6lT:

1. LW M 616N &8 61T LD 600T6U0I16V 60V B LT E26M60T [Hl6m6VBIMISHS 2856 G 60T M 60T.

2. @B wmellév LBLIL 2 MuSS Ul LiamT edrersoorlulicy 2 6iTermsl.

3. LU@BLULY euems LILNTSH6T @S wmeiley &mifll Liheus Hlev L GG LU KL LG ) 6T meor.
CLGev AEMH & & LILILHETET da MG 6rlev eTgi/eremeu &iflwimeorsl/&iflwmeoremeu?

a) 1 L (LD b) 2 LL (LD €) 2 LoMMILD 3 oL ()LD d) 1 mmih 2 ()LD

59. About Minimum Support Price (MSP) which of the following statements are incorrect?
1. MSP is a form of market intervention by the Government of India to insure agricultural
producers against any sharp rise in farm prices.

2. MSP is a guarantee price to save farmers from distress sale.

3. The MSPs are announced on the basis of the recommendations of the Cabinet committee
on economic affairs (CCEa).

4. As of now, MSP is announced for 23 commodities.

Select the correct answer from the code given below:

a) 1, 2 and 3 only b) 1 and 3 only c) 2 and 4 only d) 2, 3 and 4 only
GONHSLLF 5MT eflemev (MSP) LIHN LetTeu(BLD Sam MG 6rfleL TSI &6UmTersi?

1. GONHSULF 576 allemeu eTeTLG Licvoremevor eflemeugefley HLGID 6THSHC6UTIH FalJ60)L0IITEOT
2 Wie&@GWL aRHIms GeleTmesoT 2 MUSHWTeTIHemeT STLULNH QFUIW @QBHW IJTFTL FHeang
SemeuUTLL960T 6 (I 6ULG6ULDIT(SLD.

2. GOMHSULEFE u5Tey edemev eerug  eNleusmuiisener 9H& ewmu  eflMHLeneoruled b H I
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STLLUMMHMIUSMETET 2 55T6uUms edleneul MEGLD.

3. QumEpenmasMy NeusMIR&SEF&ESETr ISmnEFreameuds GGuwelledr (CCEA)  Uiflbgiemiyss erfleor
S LemLul6L GeMbHSLLF 3,576y B LMKI&6T 3 nlell& s L K 6 edTmeor.

4. @\ gleuen ] 23 QUITHLEHEHE S GOMMHSLULF 31,576 eflemev S nlell&as LILIL (H eTengi.

GG AaMH&&LIULBG 6T GMIUTL IS BHg Frflwmear UGlaas C5THASMH &8 e LD:

a) 1,2 ommith 3 (LD b) 1 lnmmiLb 3 LB ¢) 2 LoMMILD 4 DL ()LD d) 2,3 inMmHmILd 4 0L_(HILD

60. India is the largest producer of which of the following crops?

1. Coffee 2. Pulses 3. Cotton 4. Palm Oil
Select the correct answer using the code given below:

a) 1, 2 and 3 only b) 2 and 3 only c) 3 and 4 only d 1,2 ,3and4
etreu(pb LU TS 6rflev eTH6v @HHWIT W&LIQAUF W 2. MGG WITETTTS 2_6Tems?

1. &mA 2. LI(BLIL] 6U6m & S6iT 3. UBSH 4. umomulilev

EC am@O&&LIULB6TeT GMIuTiemL 1 LweaTUR S S Filwimer UG eamevsd C5THAHH & &6 LD:

a) 1,2 lomoild 3 oL (D b) 2 lnmmith 3 L (HILD ©) 3 lnMMILD 4 0L (HILD d) 1,2 3 mHmib 4

61. About Fair and Remunerative Price (FRP) for sugarcane, which of the following
statements are correct?

1. It replaced the Statutory Minimum Price (SMP) of sugarcane in 2009 through amendment
of the Sugarcane (Control) Order, 1966

2. It is determined on the basis of recommendations given by the Commission for
Agricultural Costs and Prices (CACP)

3. FRP is generally higher than State-Advised Prices (SAPs)

Select the correct answer from the codes given below:

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d) All of the above
&L MH& meT BIWMWLOMeoT LM MILD 915w eflemev LIMN LNeiTeu(HLD Sammiserflev T8 Frlwmersi?

1. &GULY (SLOUUTEH) 4606007, 1966 @6V B(HSHSD QFUIGUSET ep6euD 2009 LD 2600TIq.60 & (HLDLI 60T
FLLUL T GenmbsLLE eflemevemd (SMP) ommilw i

2. GeueTmeooT Q&FLEYSET WMMID NeMVEHEHESHTET ILeMeuTWID (CACP) eupraGw Uil glien s erfleor
S liuenLuiev @ s FFwLmel&as LGSR M

3. FRP QUIMSI6UMTS LOMHl6v 4LCeumFemert eflemeudsemelT (SAPs) el SIS\ &HIOME 2 6Tengl

GG Aam@ssLIULBereT GMuiG &efledl B g Frlwmer LGlemavs C&ITHA S H & & ey LD:

a) 1 lnmmiLd 2 (LD b) 1 oMM 3 DL RHILD c) 2 InMmmith 3 I RQILb d) GLDB6V 2_6ITET 26M60TSH SILD

62. The Service Trade Restriction Index is published by the
a) International Monetary Fund

b) World Economic Forum
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¢) Organisation for Economic Cooperation and Development

d) United Nations Conference on Trade and Development
CrFemel aUfH 58 SLOUUTLG GO wryme QeueflulL LGS mSI
a) FIaICSHE BTevor BIG Wb

b) 2 &L QIUITIHETITSIT LOGTMLD

¢) QUTIHETMSTT & SIMPLIL] LMMILD GLWUTL(H&HEHTET {emLDLIL]

d) IS S5 IDMHMILD eUeTTFH&&TeT &S BTH Serfler LmbBT@H

63. The Government of Tamil Nadu has allocated Z10 crore for which of the following
initiatives?

a) Digitizing ancient Tamil palm-leaf manuscripts

b) Conducting the World Tamil Olympiad annually

c) Providing Tamil language and folk arts classes for Non-Resident Tamils

d) Establishing the Agaram Museum of Languages

SOILBTGH 78 LKeTeu(BLd 6THS (PWHTF&SHTSE T10 CHITIemW 6 518G WL 6iTemgI?

a) Lieootem LW SLAILD LI 60T 26m6L eSS SIL LITH&HenaT 198511 L6V LDUILDITE @556V

b) SetT(RCHTMID 2 6v8 Sl e DLIWTL BL&HSIS560

c) QeueflBT® eurd SIS EHEHEG SLALD QM LMHMILD BT GILILM &6V 6UEGLIL| 8606 61D 60
d) 91&7 QMY HGRSTLFULSESmS Blmie] 560

64. Consider the following statements and choose the correct answer:

1. The 'Noyyal Museum' is being established in Ramanathapuram district with an
allocation of 322 crore.

2. A sum of ¥125 crore has been allocated for the restoration of temples that are over
1,000 years old.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

L etTeU(BLD FaMMIGEMETE &(HSH BV Q& mTevor(® Fiflwmer LHemevs CHTeyQFILS:

1. FTLBISL T LTl LSS 6 T22 G S5IHTHL 196V 'QBITUIWE S(HRISTLA WS’ Bloieuliu@G S msl.

2. 1,000 2y,600T(H & €5 8 (S0 GLo6uITerT LipemLowmenr C&mulleuserfler Lo MIGEFemOLIL & &MS T125 GSHITLY.

@816 & LU 6TeTgl.

GG QEHMH&H&LILIL(HETem FammisHerley ergil/eremeu Frlwmeorsi/Eifluiment emeu?

a) 1 L (D b) 2 (LD Q) 1 mmID 2 @revor(hL d) 1 96veVEl 2 @)6VEM6V

65. Consider the following statements and choose the correct answer:
1. The Kalaignar Kanavu Illam scheme aims to construct 1 lakh houses with an allocation

of 33,500 crore.
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2. A Bio CNG plant, composting plant, and waste-to-energy facilities are being established
in Tambaram Corporation with an allocation of 33,450 crore.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

L etTeU(BLD FaMMIGEMETS &(HHB 6V Q& mTevor® FiflwmeT LTemevs CHTeyQFILS:

1. HEM6V(EHIT &60TeY @ 6L6VLD HLL LD 3,500 CHITY RSIHSL 196V 1 UL FLD efH & emens HL(HoUen S

CHMTEHSHEMNSESH G5 Meuor(hH6TeTS.

2. HTOUFL LIHSETTLEAIUN6 23,450 GHITLY @S5I1HGL19.6V @@H LICWIT Fereredl aLemev, 2 b SWIMfl& G

S4L,6m6V LM MILD &LSl6 & 6rfled (B S o4 MHMEV UEFS & 6T Bl mIauLIL (H 6 60T m6oT.

CLGev ABMH &S LILIL B ETET FanmmisGerfley ergi/eremed &rlwmeorsi/ & il meot emeu?

a) 1 (b b) 2 InL_(h\LD c) 1 wmmih 2 @ yevor(hLd d) 1 9j6vev 3l 2 @ evor(H LD @)6Lem6Y

66. Consider the following statements and choose the correct answer:

1. A semi-high-speed rail corridor is planned between Chennai and Villupuram with a
feasibility study covering 167 km.

2. A new airport is proposed to be developed in Rameshwaram, located in Thoothukudi
district.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

L 6dTeU(BLD FaM MG NS &HS B 6L Q& mevor( Flwmer LGlenevs CsTey Q& WIweyLb:

1. QFeiTemeTs LD WLUILTSSH MG G enLulléy 167 H.15 STISH MG R0 eMT-AHCeus Fullev LIMTeNS

S LA LILC B 6Tengl, 915 60T &FTe S W& T e mer o4lie] CLoMA S meTerLILIL (H6iTemg.

2. H15816G 19 DML LGB 6V 3|6mLlnlh Sl6TeT TTGLO6V6UTS 6V 6@ ([ LS W eSlL0ITeuT FlemeullLd 2 (H6UTE 8

2 56T &L D 6TeTgI.

GG QEHMH&SLILLB6TET gammiserflev ergl/eTemeu & iflwimeor /&l meoTeneu?

a) 1 L (b b) 2 0L_(h\LD c) 1 mmih 2 @ Fevor(hLd d) @uetor(hlh @ 6Lemev

67. Consider the following statements and choose the correct answer:

1. The Tamil Nadu Semiconductor Mission-2030 has been allocated 3500 crore for
implementation over five years.

. A Semiconductor Fabless Lab is being established in Coimbatore with an allocation

of X100 crore.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

L etTeU(BLD FnM MIGEM6ETE &(HSH B 6V Q& mevor(® Fiflwmer LHemevs CGFTey Q&Wlwa]Lb:

1. 58D BIH QFVISHaITLELT aq6r-2030 & BH S 4,60r(H HeTlev QFWLIHSS T500 Gl

@316 & LU 6TeTgl.
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2.3100 G&IMY @SH1&SE L1960 CaMTWIbLSSTHI6 @@H Q&FE&6TLE LT SCULIG6I6 Iy iaussLlh
Bloulu@S DS
GG QEHMH&&LILIL (B 6TeT FammisGerley ergl/eremed Frlwmenrsi/&iflument emeu?

a) 1 (b b) 2 InL_(hILD c) 1 wmmi 2 @ yevor(hLd d) 1 9j6veL 3l 2 @ evor(H) LD @)6Lem6Y

68. Which of the following locations is not part of the Semiconductor Parks development
under Tamil Nadu's industrial initiatives?

a) Sulur b) Palladam c) Hosur d) Virudhunagar
SOIDBITLLg6T QST genm WPWmHESeflar S GemMEHLSS) LL KIS THS6T GLOLDLITLL.60T 6 (H

UGB WITS G 6V6VTS @)L MIG6T eTemeu?

a) G b) LIGU6VL LD Q) RGBT d) N ®EBsT

69. Consider the following statements:

1. The AVGC-XR Hub with a Z50 crore allocation will be established in Coimbatore as a
center of excellence.

. Under the Gig Workers Support scheme, a subsidy of 320,000 is provided for purchasing

e-scooters to 2,000 workers.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

L 6dTeU(BLD SnM MIS60I6TE &5 6L 60T UL I & 6iT:

1.%50 G&ITlY @&I&SE L1960 AVGC-XR amll CamwbLSanl6v @B FImhS 6nWInms Blmieuliu@Lw.

2. 88 QamfleumeTT oL5T6 HLL &S 6T GLD, 2,000 QS TUN6UITET T8 @58 & LS 60T-6M &n L L[5 60161

6UITMHI(G6UG MG T20,000 LOMeoflWLD eULPMISLILIGSHMSI.

CLGev AEMH&&LILILBHETET gammiSerfley ergi/eremeu &iflwimeorgl/&flwmeoremeu?

a) 1 L (b b) 2 IDL.(HLD o) 1 mmILh 2 @ Fevor(hlLd d) 1 Q6veVEI 2 @) 6VEM6Y

70. Which of the following districts is NOT mentioned in the dairy modernization
projects?

a) Chennai b) Salem ¢) Thiruvannamalai d) Thanjavur
LIV L1600Tem600T Haf6uTLoWILDITE: &60 HL L migerflev LetTau(pLd Wmeul Lmigerfley ergl ML LILLef6vemev?

a) G\& 60T60) 60T b) GFeulD ¢) &) (1561 6TOTE00T ITLO 66V d) HEhF Ll

71. Which of the following is not an application of Pascal's law?

a) Speed limit system in vehicles.

b) Hydraulic press that converts garments into compressed packages so that they occupy very
little space.

¢) Used in calculating the gram molar volume of all gases.
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d) Elevators used in vehicle repair workshops

L9) 60T 601 (I 61 60T6U D MI 6T 6TFH1 LIMeTV &6V NG uSl6dT LIWeTLT® 3{6L6V?

a) QUMGEHETHIGH6 I Gauds eUTLDL] SjemLnLiL].

b) &6 GMHE QL SMECW T(HSSIHEHTETERL aUemnSHUI6, e HeM6T &F([HEHELILIL L QUITH HETMS
LIHMID el greds LNre.

C) SMETSE S QUMW E&6T 60T BTN GLOTEVIT &6UTelETEn6IS &60oT&HGEL LI LIWeTLUBGHmS!.

d) UITSHETRIG 66T LIS LIMTT& @D Lieoolllnenetaerfley LiweT LG 2 W H &6t

72. Match the following:

a. Beta

b. Femto

c. Terra

d. Pico

QUTBS SIS

a. LflLm

b. sQULGLIT

c. QLpgm

d. 9N&Csm
abcd

a)2 341

b)y4 312

)3 412

d2413

73. Which instrument helps to find differences in pressure of fluids

a) Odometer b) Manometer c) Anemometer d) Ammeter

Hreu (W555 B 6L 2 6Tem CaumILIMTB &6 e eayd &rHedl?
a) @CLTISL LT b) Lnm@eormLSL L[y ¢) SjeoflGLmLSL L d) oSy

74. A device in which the loss of heat due to conduction, convection and radiation is
minimized?

a) Solar battery b) Solar pressure cooker ¢) Thermometer d) Thermo flask
Qaulilg HLSSHE, QeuliLgFeuerd WMHMIL &G Teids Bweammmey gHuGL Qeuliu @LpLiemus
SMEGLD &Hel e15I?

a) @& lw L 6dT8 6V 60T b) Gl (WSS FemLOWIMSH6060T

¢) QauliLBlemevLnmef] d) Qs TGmLIermeug
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75. Assertion A : It is safe to stay inside vehicles, during lightning and thunderstorms.
Reason R :The vehicle’s metal surface acts as a shield and protects us from the electric field
generated by the storm.

a) A & R correct b) A incorrect R correct

c) A correct , R incorrect d) A & R incorrect

Famm A: L0leiTeorey WMHMID GIQUIL6ET Falql WenpUlledr GUIMSI 6UMTSH6UTHIGEHSHEG6TCTCW @) (BHLILSI
LUMSI&TLLITeTS).

SMTIerd R : UMHTSST 2.CGeums GUMUILIL @@ CHLWIMSEEF QFWOLLG LW6Vmey 2 (HeumEGLh
eTEmy Levs H el (HHS HLDeMWL LIMSISTSESHMS.

a) o &ifl, sryeorh Fifl b) FaMm HeUMI, STJ60OTLD el

Q) Famml &F1fl, HTIETOTID H6uml d) Fam Hauml, STyeoord &Fifl

76. Give examples of natural auxins among the following?

a) Indole - 3 - acetic acid b) Phenyl acetic acid

c) Indole 3 butyric acid d) Indole propionic acid

L9 60T 61 (I 61 60TEU D MI 61T @ WD M T 1,8 G\ 60T @5 8 (S 25 TIJEUUTLD & (1H55?

a) @6TCLITA - 3 - S L196 jfleuh b) LNemerev 196 jfleuih

) @evorGLrmev 3 LIw,L_iflé oyflevld d) @evorGLmev LCymULlwimenflss gjufleuin

77. What are the short DNA fragments synthesized on the lagging strand called?

a) Replication forks b) Origins of replication

c) Okazaki fragments d) Topoisomerase segments

WergsmGw @enpuilel QFSMGSEHSLILILL Sl L. 6T6T.6f S160oT(H & 6T eTeueUTMI | 6mLD & 8 LILI[H 6 60rm6or?
a) @TLIQLILMTSH6V (LDL_ 56007 L9 &6iT b) @UL 19 LILIT&H65 6T GHTMMmLD

C) RETFTH Zl600T(H & 6iT d) GLTCUMRCEFTRLETeN S1600T(H&H6T

78. What is the specific amino acid that is related to wool quality?
a) Methionine b) Cysteine c) Tryptophan d) Glutamine
slhuer] sr653IL6T QsTLTLmLW SMOILLNCL flCerm Sifleuld er5I?

a) QL0 & &) GULIT6D) 60T 60T b) Fervem LedT o) 9. flIGLITLImedT d) G EBL_LemLn6dT

79. What is another name for the Krebs cycle?
a) Electron transport chain b) Glycolysis

¢) Tricarboxylic Acid Cycle (TCA) d) Oxidative phosphorylation

SQFLIev sWHTUN6T LDHAMTIH @ LIWIT 6TeoT60r?
a) 6TELGL [T LSS FhIGH 60 b) Bemeng: & medl & erv

o) LempsmyUmsEHeils obfley &Lpm& (TCA) d) 9L.EFALCermM LIMeLIFl&Ieorin
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80. Which part of the female reproductive system is responsible for picking up the ovum
from the ovary?

a) Uterus b) Fimbriae c) Ovary d) Cervix

QuUeTT @ETUQLHSES  OEITLVSH6T qLUUGEH eurLdE &rUululediphs 0 S| 6toTLSmS
HNfsesG &S me?

a) &HLIemL b) sl Liflwrr 0) GEVGLD d) &@LenL aumll

81. Consider the following with reference to the East India Association organized in London:
1. It was founded by Dadabhai Naoroji.

2. The organization aimed to present correct information about India to the British public
and voice India grievances.

Select the correct answer using the codes below.

a) 1, 2 only b) 2 only c) 1 only d) None of the above
6VeuOTL 60fl6V 2 (HeumGBHLILILL RPHERHH W FRSHSmSL UMM Sl sefley LIeireuheusreumenme
55611601 WL M1 &5 61T:

1. @& STSTUML QBeTCrmlwImsy BlmieulLIL L Sl

2. @hHs sjennliL @BHwmeneuls LmMw Frflwmer H&eusvsemner LNflL19609 QLTSI G S EHE S

6ULDTEI(G 6U6MS W LD, @) MH S WITS6rfl 60T (&60 M & 606ITE FoMIGUEMS WD GIHTEH & IDTHS G&TEUoTL Sl

ECLp 2 6item GMIUTHIGHemeLI LWeTL® S S Frflwumer LS emevs CHTHASH &S] LD.

a) 1,2 (b b) 2 DL (HLD o) 1L GLd d) GLDG6v eTg16)] LD @) 6Vem6V

82. Which of the following members established the Madras Mahajan Sabha in 1884?

1. Thiagarajah Chetty 2. Ananda Charlu 3. Subramanya Iyer
Select the correct answer using codes given below.

a) 1 and 3 only b) 2 and 3 only c)1,2and 3 d) 3 only
edreu@pld 2 miLiferasetfley Wy 1884 @ 6L QLOL TV LO&TRET FemLienil Bl miedleormiy?

1. wWMsrmrg Q&L 2. 9L60THS FMTsy 3. &Luynevorlw Swiy
GG Aam@ssLIULB6reT GMuiGsenerl LWaTUB S S Filwmer LGemevs C&THGASH &&ea]LD.

a) 1 lnmmid 3 L HGLD b) 2 LnMHmiLd 3 L HIGLD o 1,2 Wwmmibd 3 d) 3 0BG

83. Consider the following statements:

1. The Muslim community did not oppose the partition of Bengal and did not participate in
the swadeshi movement.

2. The Indian National Congress never had a Muslim president.

Which of these is/are not correct?

a) 1 only b) 2 only c) Both 1 and 2 d) None of the above
LSletTeu(HLD 3|86 85 6016TE 56U 6011 LL| MBI &5 61T:
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1. eurais L1 L9 1fleSlemetTemd (Lperedlid FensLd erEHTE & allcLemey, &CHF @\ W& S S B 6V LIKIGCH M aleuemev.
2. QB W CHHAW STRIRIEHEE @@ (NeV6SIh Henevall] Fal @)\ (HHSHeveneov.

@eummlev etz FflmeTs @ 6vemeu?
a) 1 (b b) 2 (LD c) 1 wmmith 2 d) GL0G6v 6THIGLD @) 6V6M6V

84. Which of the following is/are related with the relationship between the faction of
moderates and extremists as far as the Indian national movement is concerned?

1. Surat Split 1907 2. Lucknow Pact 1916
3. August declaration, 1917 4. Lahore Congress Session,1929

a) 1 and 2 only b) 2 and 3 only c) 1 and 4 only d) 1 only

QHHW CHAW EQWSHESSMSL QUTMISS eusmgulley Lerau@Beusreummley WOGUTH&ET LOMMID
gallgeurs serfler LNfleyL 6T QSTLTLeML WS eTSI?

1. &J5 Wema 1907 2. V& GeuTIT @LILIHSLD 1916

3. 96Vl LANy&L6eoTD, 1917 4. UMEa STHERIG eV 3|0F6y,1929

a) 1 lnmmid 2 L HGLD b) 2 lnmmith 3 I HIGLD c) 1 wmmib 4 10 @HILD d) 1 ioL_(pILh

85. The Ghadar party was motivated to wrestle freedom from the British due to which of
these events? Pick out the possible events that could have influenced their activism.

1. Komagata Maru Incident

2. Outbreak of First World War

Which of the above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) None of the above
@\HS BISGLDe&6Tl6L 61560 GITTEUTONSG LT CuW TSI @BHE &FHSHBISHMHETH FauoTenl Q& wlw
S&EMST &L GrevorL UL L &1? Geufsefler QFWOLTLIGN STESESMS gHUDSSEIW FTg S WLDmer
Bl& ey senens G5 H0E S (&8 a)Lb.

1. GaM&LL 0@ FlOLieULD 2. (PS6V 2. 0L CUMTT Qeulg 55 Sl

CGLOGev 2 eiTemeummlev 18l &iflwimeorg?

a) 1 LB b) 2 D@D o) 1 WHmILD 2 @ revor(Lh d) LM &ML 6TSI6| LD E)6V6m6V

86. What was the common between the following leaders of the national movement?
1. V. D. Savarkar 2. Sachin Sanyal 3. Rash Beharibose 4. Vanchinathan
Select the correct answer from the following options:
a) All were from Bengal
b) All were part of the violent struggle during the initial days.
c) Except V. D. Savarkar,all were revolutionary terrorists
d) None of the above
CaHFW QW HES B 60r LleiTau(bLh emevauserflenL G QLIMTSIEUTETS 6Tg1?
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1.V.D. &MU ST 2. FEF 60T FeOTIWITEL 3. pmeq QuammflGumev 4. QUIT(Eh T\ BT 60T

NetreupLd eNpLILIMIS6M e BB S Fiflwmer LS eamevs G HOSH & & ea]LD:

a) O6METEU(HLD UMBIGTETS NG G&FJHS 6T & 6T

b) @,TLDL BITL G660 emeTal(BLld euaTnenmLl CUTITL LSS 6T @ LIGH IS @) [HIHS 60T .
o) FauTHHEMIS S, SeneTal(BLd UL S&T LUK Te TS &6t

d) GL0G6v 616D G)6VEm6V

87. Match the following and choose the correct answer from the codes, given below:
a. Surat Split - 1.1905
b. Partition of Bengal - 2,.1906
c. Minto-Marley reforms 3. 1907
d. Indian Muslim League 4. 1909
SC Aam@s&LIULB6reT GMuiG sefley @uHg Frlwmear LUGlamans C5THASMH & & LD:
A. &J5 Wemey - 1. 1905
B. euriis L1 L6l emeor - 2. 1906
C. 86T CLIT-L0m el €17 &\ (58S S Ml & 6T 3. 1907
D. @& W Wevedlib 658 4. 1909
abcd
a)2134
b)4231
c)3142
d 1243

88. Match the following
a. Annie Besant - 1. Kesari
b. Aurobindo Ghosh - 2. Common weal
c. Bupendra Nath Dutt - 3. Bande Mataram
d. Tilak - 4. Yugan Thar
L9 edTeu (B 6ueTTOUMEMM LI QLIM(IHE S 6 LD
a. 9|60TevT] QLIG6OTL. - 1. Cs&rfl
b. 7eN % Co ey - 2. &6t efeu
¢ LOUBHET BMS S - 3. UHESH LMASTLD
d. vy 4. Woe0T BT
abcd
a)3412
b)2143
c)4312
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d) 2341

89. From the following statements choose the incorrect one

1. In 1906, V.O.C registered a joint stock company called Swadeshi steam Navigation
company

2. The major shareholders and secretary of the company was C.Vijayaraghavachariar

3. Shares were open only to Indians, ceylons and other Asian nationals with a capital of
Rs.10 lakhs divided into 40,000 shares of Rs.25 each

4. Aurobindo Ghose lauded the swadeshi effort and helped to promote the shares of the
company

a) 1 and 2 are false b) 1 and 3 are false c) 2 only false d) 4 only false
etreu(pLb oM Hen&s6rflev @ (HIHSI &eUMITET eiTenms G T HE S H & &6 LD

1. 1906 @6V, U2 & YuTH6T &HEHF euiclh CHeNCH 60T HlMIGUETID 6T60TM Fal B LIMKIE HlMIeU6eTsens
U ey QFWSTT

2. BlMIeueTS S 60T (N&EH W LIBIGSTTT LMD QEFweureTy F.eflgurrseumsgsmiflwmy SLeumy

3.@\ B W TSHET,FICeumedT 0&SH6T WMMIL L9m AW BILIQETHESES WLLGGL @LUUBIGSET 6UITHIGLW0
2_flemn SrLULLL6r.10 @6VL&LD eHLIMemW (H LIKISME eh.25 efg5Lh 40,000 LIMI (S8 6T 6ULDMISLILIL L 60T.

4. 9ralBHCHT GCHBMeV &HECHHF WPWWHHFReOWL LUMTTTLIQeTTT WLMHMID BlmieueTsSHer LIk 8 enerT
CuLUBSS 26Ty

a) 1 L0MMILD 2 &HEUMITETEr6U b) 1 LDMHMILD 3 HAUMTEOTEN G 0 2 DL (HLh SHeuml d) 4 DL (HLD Heum

90. Choose the correct statement from the following regarding Dadabhai Naoroji

a) He was elected to the Bombay Municipal Corporation and Town Council during the 1890s.

b) Elected to the British Parliament in 1892, he founded the India Society and the East India
Association

c) He was elected four times as the President of the INC

d) He started the two Journal the Indian Mirror and the Bengalee and also served as its editor.

L etreu(meusoreummlev Hre UMl QBaTCrme Lmmw Fiflwmer samenms G5 HOSH &&a]Lh

a) @eu 1890 serflev LIbLIMUW (el lFILIGY STTLILGCTA.6T MM L6 6T HalrRasEE CHIHOSMH &L LITH.

b) 1892 @ev LNflLI96q LUMITEBLETNSERMNG CHIHASHEELILILLTY, Sl @BHWT QFTFL LY LMD
RPHG QHS W FRIGSMS Bloiedler .

¢) 36Uy INC @60T H6M6VaUT TS HITEOTS (LM CHTBASH &S LILILLITT

d) @bSHwer WIF WwHMID QUBISTS URUW Q0B QSHLEHMETS QSTLEIS, aumnlear R Flurmsen
Lesoflwimmnileot .

91. Match the following. (Indian National Congress)
a. First Session - 1. Badruddin Tyabji
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b. Third Session - 2. Surendranath Banerjee

c. Sixth Session - 3. Womesh Chandra Banerjee

d. Seventh Session - 4. P Ananda Charlu

e. Eleventh Session - 5. Pherozeshah Mehta

LSl etTeu HeuetTOUMEMMLI QUIMIHSS6YLD. (@ H S W C&F W SHITHIG Ierv)

a. N6V ey - 1. UGBS 6T HwmLigd

b. epeiTMMEUSI SLDIT6Y - 2. &CIHSTHTS LmerFel

c.LMTEUS S|L0TeY - 3. GeurrGLnay FHS T LmeTFel

d. gpmeusg gy - 4.9 oye0THS FTT

e.LUSHCTITITeUS I|L0IT6y - 5. QUG MeVaYIT GG ST
abcde

a)23145

b)32154

c)21345

d31542

92. Assertion: Congress demanded the complete separation of Executive and Judiciary.
Reason: Because of the Partial treatment against the Indian Political activists by English
Judges.

a) Assertion is true, reason is false b) Assertion and reason are false

c) Assertion and reason are true d) Assertion is false, reason is true

S mi: BlyeumsLd WhHmib BHHSHenmenw (pWenow s LKfl&ses smh&Gyeav Camlwg.

SMyerd: WG BHUSSEET @QHHW ATFWE TUVTHEEHESES aHJTSE LMTIFULFIONS
BLSSLUILILL STV,

a) Famm &ifl, STFeorLD &6UMmTers b) MM LDMMILD SHITTE00TLD &6UMITETS!

) Sa MO LDMHMILD STFevorid &Fifl d) MM SEUMTETS, &Tyerid &ifl

93. Arrange the sequences in chronological order:

1. Lucknow Pact 2. Minto Morley Reforms 3. Partition of Bengal
4. Surat split 5. Formation of Muslim League

L etreu(peusoreumenm &meveuflemaLiulg auflensFL il S S LD:

1. VG GEUTIT PLILIBHSLD 2. BleTGLIT Gomyed &S\ (h S S hi & 6T 3. eum s ey L9 1fl e emeor
4. &5 Nemey 5. (p6uedlib 658 2 (HeumssLh

a)l,2,3,4,5 b) 5,4,3,2,1 c)3,2,5 1,4 d3,5,4,2,1

94. Which of the following statements are correct about Kalpana Dutt?

1.Chittagong Armory Raiders Reminiscence was written by Kalpana Dutt
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2.She fought carrying guns for the liberation of her mother land

3.She was charged with waging war against the king emperor

a)l is true b) 1 and 2 is true c) 2 and 3 are true d) All the above
SLIETT & LmmMw LeTeu(pLld ammigerfley eTg Frlwmersi?

1. "FILL&ME LW S58 HLMIG CUMTmerserfleir MlemereyseT” TG WU &HeVLIGTT &5

2. B60T ST Lo evoT6nr 60T 69 (NS EMEVEHTS FILILIMTEHE 6 HSH CLITTTLQ60TTT

3. ANFHEHS THINTS CUNT QFMTHSSSTH jaul 85 GHMmD FTLLLULL I

a)1 &ifl b) 1 mmih 2 &ifl ¢) 2 Inmmih 3 &ifl d) GLDG6V 2_6ITET EMETS SILD

95. The society ‘X’ was formed in 1864 by K Sridharalu Naidu to fight the causes of Brahmo
Samaj in South India. It worked to abolish caste distinctions and promote widow
remarriage. The members of the society believed in one God and condemned the
superstitions and rituals of orthodox Hinduism. Identify society ‘X’.

a) Arya Samaj b) Prarthana Samaj c) Dev Samaj d) Veda Samaj

QgerallbHWmelleyv LN FIOMTRGHHET HMJOUTHRIGMET dHITHSIL CUTTTHUSMETH GF% LfHTay
BTW® SUTSHETIT6L 1864 94LD SLEVUTILEV ‘X ' FMRIGLD 2 (HeUMSHSLUILILL &I. FTH CoaumLmTBH &eneT & &ea b
dgemel LMIDEUTSHMS 26185Gels&HEaL @& QFWALLLE. FWSTWSSar 2 mUlearfsear @Gy
sLajemem [BNery wMmIb wryauy @hE& WSSH T CNLBILINGMSEHMETU D FL MG 8meTW LD
5 600TL60TID QF IS ETT. @S ‘X' FNEHSMS ML LITETLD &ITeoTeYLD ?

a) QLU FLOMLYLD b) NS ST FIomeLh c) GxHal FINMYLD d) Geus FIOMYLD

96. With reference to the Green Tamil Nadu Mission, consider the following statements:
1. It aims to increase the forest and tree cover of Tamil Nadu to 33% of its geographical
area.

2. Geo-tagging of saplings and digital monitoring through a dedicated website.

3. It focusing on native and economically significant tree species.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d1,2,and 3
ugenln SELBTH QWSS QSTLTUNS LN6TeU(BLD Fa M5 606TE 56160 MBI & 6iT:

1. @\ 8! SLOLDIBITLLQ.60T 6U60T LOMMILD O MISG6Nedr LIFLIL6Temed & 6ot LjeSluflwev Lyliuemeilev 33% 24,8

2 WSS @& MBljeworuils gieTens..

2. BLULLL Sermigsener Ljed&Gmull(h)&6v (Geo-tagging) LM MILD (6 LNTHCW S 6Uem6uS SETLD LO6ULD
192316V (nemmMUui6L & 60078 T6uuTl & 55 60.

3. @8l Wiyeis InMHmIb QUTGBETTSTY IFH WS (D& S WLMET L0 euenS S5 leL HealeTlh QFNSSITMmSI.
GG QEHMRGH&LILILL Gammiserlev ergl/eremeu Fiflwimereneu?

a) 1 lnmmiLd 2 (LD b) 1 Lommith 3 ()LD c) 2 IoMmMIh 3 I (HILD d) 1,2 oMo 3
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97. Assertion (A): The ‘MANAM’ Thittam initiative was launched to promote mental health

and well-being among students in Tamil Nadu.

Reason (R): The initiative includes the establishment of Mana Nala Nallaatharavu
Mandrum (Students Mind Health Support Forum) to provide Psychological First Aid and
peer support.

Choose the correct answer from the options given below:

a) Both Assertion (A) and Reason (R) are correct, and Reason (R) is the correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the correct explanation of
Assertion (A).

c) Assertion (A) is correct, but Reason (R) is incorrect.

d) Assertion (A) is incorrect, but Reason (R) is correct.

Fammi (A): SLOILDHT(H LOMeuoTEU T8 6rfl6m LG LO6UTIH6ULD oM MILD [HeVeUITLhemeu GO LI(H S SI6US M TS ‘L06uTln’
S LD QSTLBISLIULLSI.

&TIewrid (R): @HS (6T W MHEIUG6L LDE6OT [H6V [HELEVITSITEY LOETMLD (LDITEUITEU TS 6T LO6GOTH 6V 45 T6Y L0 60T MLD)
BlmiaulL@eug 2 emellwel (pHvgedl InMHMID &5 LOMEUUTEUT L5606 ULPKIGH MSI.

Fflwumer LSemevs CHITHAHH &6 LD:

a) Sa MMl (A) LDHMILD &ITFesorLd (R) @Tevor(ILd Fiflwlmeremey, GLOaID &ITFesorld (R) Snmmi (A) @) 6T &ifluimeor

aflemg &L L&D,

b) &aMmI (A) LDMHMILD STFesorid (R) @ revor(hD & ifl Wi meoremel, QLeoTITey SIMTFesorid (R) Sammi (A) @ 6ot &iflulmeot

e &L @) 6veme.

Q) Gl (A) FIflWIMTEOTS), QL60TT6V SITF60oTLD (R) &6UMTETS).

d) Sl (A) HEUMTETSI, SL60TMT6V HTTevorLd (R) FflUlmeoTSl.

98. With reference to the Tamil Nadu Government's initiative on National Girl Child Day,
consider the following statements:

1. The government awards a cash prize of Rs. one lakh and a certificate of appreciation to
a girl child under the age of 18.

2. This initiative was introduced in the year 2018 to recognize and promote the potential
of girl children.

3. The districts that are performing well in increasing the sex ratio of the girl child has
been awarded

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
G5 T W QUIEHIT (SLPTHenS 6T HeTsH 6L SLNLDHBIT(H THF 6T WeTWWMH T GSMISH S, LNeTauIHLD FaM MG eme6rT
55611601 L 161 & 61T:
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1. 18 QUW SIS G L LLL QLI GLPHenSEE @ VL&D epLUMl Qs Ui, umryrlGE Fmearnlg et
TE UPHIGHMSI.

2. QUETIT (BLPTHen S S earfletr Blmemenr ARG SHNH8 CLLUGSSID CHTESH @\hS (WeTIWWMHE 2018 Julb
26001 (H PWSEILGSSLILILLSI.

3. QU6TT GLPHem G & erfler Limedler efl&g5Hms S &FLILG 0 FLILITE QFWELIGLD LDTaUL L MHISE58E
N5 & UG LILIL (B 6T,

CLMmFamw Fammiserfley eTgi/eTemeu &l meoTs?

a) 1 lMmILd 2 L (BID b) 2 LnMMID 3 L (LD o) 1 Wwmmib 3 LG d) 1,2 Lommild 3

99. Which of the following government departments are the nodal agencies for the
Punnagai Thittam?

a) Tamil Nadu Health Department only

b) Tamil Nadu School Education Department only

c) Tamil Nadu Health Department and Tamil Nadu School Education Department
d) Tamil Nadu Social Welfare Department and Tamil Nadu Education Department
LetTaU(BLD 6THS TS HeMME 6T L|6iTeoremn s G L& H 60T (LD G 60TemLD (L& eMLDSH6IT IL,(GLD?
a) HILETG FHMHTIS Slenm LG

b) sLADLBTH LeTefls Hevalls lemm WL GHILD

o) SUIDBTH &FHTHTTS Slemm WOHMID HLADBTE UeTefld Hevalls slemnm

d) SLLBTER Fens Bevs Slenm HMID SSDHTH SHevells Siemm

100. With reference to the "Neeyae Unaku Raja " scheme launched by the Government of
Tamil Nadu, consider the following statements:

1. The scheme aims to revive traditional arts and crafts while promoting youth
entrepreneurship

2. It offers a monthly stipend of 312,500 to trainees undergoing skill development.

3. It is 